Να βρεις την τιμή του Χ για καθεμιά από τις παρακάτω εξισώσεις:

· Χ + 5 = 15 · 4 
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

· Χ - 9 = 83,7 +19
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

· 28 - Χ = 117 - 90
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

· Χ : 5 = 4
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

· 48 : Χ = 1 + 1,4
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

· 36 · Χ = 18
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

· 
 ……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
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